Se quiere ejecutar el siguiente cddigo en un procesador segmentado

Iw R10, 9(R1)
sub R11,R2,R3
and R12,R4,R5
or R13,R6,R7
add R14,R8,R9
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WB: antes<4>

MEM: antes<3>

EX: antes<2>

ID: antes<1>

IF: lw R10,9(R1)

B
S z| |
m 3 |
S 4
D ge]
@
solep X
awmwen|  epeuowsw (5
o =
a 2
(5] [ 1
&
N .
Y o -
2 3 s | 5
w N
+ niv
N i /.
O pErASRALlL wu o
o XNN — o
5o o b g
w s -
m = E_ I 7 § _
s 92
ER P g
soJisibal
ubis ap™
alMbBay opoourE uoISualX v
! . m Ol ;.E
|onuo)d m % 14 © r
ﬁ y
% Q . & 0
()]
=
=

”A o XN )

A

| |
o
(@)

sauo129n1sul
ap elIOWa

ADDR

>
>

_Hv_m_




WB: antes<3>
MEM/J\/B
B
I
[ndd
S
S
S
1
<
-]
=
y

3 |
| |
o
a)
kS
b solep k>
/Q\u AIMWBIN ap elIOWaN u m
c [a)
S >
© &)
< a)
(=
N S
= W _ o
= = s|
X
1]
A +
Vv /\
(7]
2
C
©
V.A. OXD_\/_l
L
X e . b
5= =0
- — — o
& ol 3
Py Al -
o o o
43 3 souisibal L
6 Sp odueg > oubis ap v
=) SHIMBoY % UQISUdIX
R o] A
WM [J1V[s]g)] m © M o }
o — .
—
x
=
.. M - < o m_
. L 0
(@]
=
T . |
o
fa)
o
m & \||_||/ SOUO0I29NIISU
m_uu AD/“_ T Lo XNW ~ YA Dwum:oEmS_
mu R. a ﬁ m
2 2! < 3
? x S
| .
3 g
2 @ Od
Q 18 _H_H_
o
o




WB: antes<2>
MEM/J\/B
B
I
[ndd
S
S
S
1
<
-]
=
y

= _ _
|
04
a
ge]
3
b_ solep k>
«v BLIMWIIA op elIOWBN = m
g } x 2
S >
© a
< a)
.. =
3 s
= W _ o
P
X =2 .
W g
ol
| ®)
: + niv | w%
: niv
] & 1 7N ap |02U0)
D1u_
E YIS ARIVAN XN w_v ot
.. o
VA = ) = (=) XD_\/_I
—
L < -1 O 0.._‘ S prd o 5
I m <
m W M E_ | I UN (Y) _
- & [2-3 ;o X:l
o
S o 2\\
o o N
muu = & d sousibal
] ubis ap™
N SNIbo ap ooueg > v
o mBay : upisusng)
- Qo 'y
m [01u0D < o 2 <}
O ﬁ y
>
n
.. 5
= B N SQ x| x|d
@ 0
@)
=
T . |
o
o)
o
...m L \|H/ SaUO0129NJ3ISUl
3 e g XOW /N ap elIoWaN
e 4 [y R
g x ﬁ :
% S < _A,n
— x
S o]
c
2 < Od
Q i _H_H_
o
o




A
—
i XN
m 4] L BayolWBIN °
S [ 3=
@ s '
m w _
= = L
D e}
: ©
; sojep g
S AIMWBIN op elIoOWsN u m
Y x =
< a
= a =
— = < (@]
M m t A
i [1+1
_WL W g o @D
= £ s
W o
W <
: + nIv
= A A
l y
:
E Swj<r_mx:_>_w_v ot
m\w = S XN
x « m (9N ™ o —
L X I7e A
L2 s —
- = I 2 T
Io] o = m Mw_v\\
x -~ m = soJisibal
3 5 ap ooueg cm_gv
@ animbay = orsusixg]
S < [a] W .W p
T |o1uoD s o 2 o
y
o)
: _
@
.. -
= S < SQ w | x|
L 0
()]
=
T . |
o
a
o
...m W \'H/ Sau0I29NJISUl
o © e X0 e ap elLIOWAN
= Dn., 3 ﬁ DD“
5% ) - 3
S R F Y
5 -
S 5
2 I [[od |
e —
O
o
o




o) L mmmeem_\,_% o
\w_ o _

p=

L

p=

WB: lw R10,9(R1)

2 | |
i
4
D e}
©
: solep &
., ALIAMWBIN ap elLIOWdN | m
— - :
E a
p } a W
E - o
e L 3 7
¥ S
.. N ﬂ__ & “——
= W "~ ooo
= 2 z s
f o
- ~
l_l niv
, /\ : N
N \|~|u
- o XN — B
2 M v IS ARTAN= o
[
< S o XNIA « -,
> g 8 Y ,
* VA T T i i —] [o)
I om s < _ _nnm
a = i
- 6 7 a8
S &+ < o
o 8 8 m o )
= S 9 soJ)sibal
- alMBay ap ooueg @m.gv
. UOISUdIX
> < (2] p
o |00 < o T X3
6 —
7 _
%)
R
—_ - .
o (o) © 7; m XO x|
D
(@]
=
LL
o)
°
£ o
3 2
£ foe)
3 i
P S
S o
2 S
3 ©
2 L
o




(o}
e
©
-~
[
Q
S
(o]
)
w
[
(o}
o
©
()]
O}
o
o
o

WB: sub $11,...

EX: or $13,... MEM: and $12, ...

$8,$9

ID: add $14

IF: <1>
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